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I. Proposal

Annex 6

Paragraph 3.5., amend to read:

"3.5. Duration and speed.

When the deceleration method is selected, thevilig requirements apply:

(&) The deceleration j shall be determined in exactde/dt or
approximate Aw/At form, where @ is angular velocity, t — time

(b)  For duratiomt, the time increments shall not exceed 0.5 s;

(c)  Any variation of the test drum speed shall noteext1 km/h within
one time increment.”

Paragraph 4.6.2., amend to read:

"4.6.2. Deceleration method

The deceleration method follows the procedure below

@)
(b)

Remove the tyre from the test surface;

Record the deceleration of the test drimDo/ At and that of the

unloaded tyreAwry/ At® or record the deceleration of the test drum
ipo and that of the unloaded tyre o in exact or approximate form
in accordance with paragraph 3.5.

Paragraph 5.1.5., amend to read:

"5.1.5. Deceleration method

Calculate the parasitic losseg, i newton.
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is the test drum inertia in rotation, in kilograneter squared,
is the test drum surface radius, in meter,

is the test drum angular speed, with tyre, in radians p
second,

is the time increment chosen for the measurementhe
parasitic losses without tyre, in second,

is the spindle, tyre and wheel inertia in tmta, in kilogran
meter squared,

is the tyre rolling radius, in metre,
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Cro is the tyre angular speed, unloaded tyre, in rapg& second.
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where:

ID is the test drum inertia in rotation, in kilogram meter
squared;

R is the test drum surface radius, in meter;

Do is the deceleration of the test drum, without tyrejn radians
per second squared;

IT is the spindle, tyre and wheel inertia in rotation, in
kilogram meter squared;

Rr is the tyre rolling radius, in metre;

iTo is the deceleration of unloaded tyre, in radians peseconc

squared.”
Paragraph 5.2.5., amend to read:
"5.2.5. Deceleration method

The rolling resistance,An newton, is calculated using the equation:

= :|_D A(L)V +RIT ACL)V —F|
" Rlat, ) RZAL P

Where:

ID is the test drum inertia in rotation, in kilogranetre squared,

R is the test drum surface radius, in meter,

Fol represents the parasitic losses as calculatedragraph 5.1.5.,

At, is the time increment chosen for measuremengdorsd,

Aa), is the test drum angular speed increment, withguoe, tir
radian per second,

It is the spindle, tyre and wheel inertia in rotatiom kilogran
metre squared,
is the tyre rolling radius, in metre,

Fr is the rolling resistance, in newton.
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where:
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is the test drum inertia in rotation, in kilogram metre
squared,

is the test drum surface radius, in meter,

represents the parasitic losses as calculated
paragraph 5.1.5.,

is the decelerationof the test drum, in radians per secon
squared,

is the spindle, tyre and wheel inertia in rotation, in
kilogram metre squared,

is the tyre rolling radius, in metre,

is the rolling resistance, in newton."

Paragraph 4, amend to read:

"4,

Control accuracy

(d)

time: +/-0:0%50.5 ms




